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—053 —10(12) —129 —160
—046 —070 —11(12) —153
—039 —063 —10(15) —146
—02(12) —056 —080 —139
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—136 —137 —138
—129 —12(10) —12(11)
—11(12) —11(13) —11(14)
—10(15) —10(16) —10(17)
—080 —081 —082
—073 —074 —075
—(066 —067 —068
—059 —05(10) —05(11)
—04(12) —04(13) —04(14)
—03(15) —03(16) —03(17)
—02(18) —02(19) —02(20)
—01(21) —01(22) —01(23)
—00(24) —00(25) —00(26)

N=9 p*



27—1000

—0300
—0230
—0223
—0216
—0209
—0160
—0153
—0146
—0139
—012(12)
—011(15)
—010(18)
—0090
—0083
—0076
—0069
—005(12)
—004(15)
—003(18)
—002(21)
—001(24)
—000(27)

N=10 p*
30—1010

—1003
—0310
—0303
—0240
—0233
—0226
—0219
—020(12)
—0170
—0163
—0156
—0149
—013(12)
—012(15)
—011(18)
—010(21)
—00(10)0
—0093
—0086
—0079
—006(12)

28—1001

—0301
—(0231
—(0224
—0217
—020(10)
—0161
—0154
—0147
—013(10)
—012(13)
—011(16)
—010(21)
—0091
—0084
—0077
—006(10)
—005(13)
—004(16)
—003(19)
—002(22)
—001(25)
—000(28)

31—1011

—1004
—(0311
—0304
—(0241
—(0234
—0227
—021(10)
—020(13)
—0171
—0164
—0157
—014(10)
—013(13)
—012(16)
—011(19)
—010(22)
—00(10)1
—0094
—0087
—007(10)
—006(13)

29—1002

—0302
—0232
—0235
—0218
—020(11)
—0162
—0155
—0148
—013(11)
—012(14)
—011(17)
—010(22)
—0092
—0085
—0078
—006(11)
—005(14)
—004(17)
—003(20)
—002(23)
—001(26)
—000(29)

32—1012

—1005
—0312
—0305
—0242
—0235
—0228
—021(11)
—020(14)
—0172
—0165
—0158
—014(11)
—013(14)
—012(17)
—011(20)
—010(23)
—00(10)2
—0095
—0088
—007(11)
—006(14)



—005(15)
—004(18)
—003(21)
—002(24)
—001(27)
—000(30)

N=11 p*
33—1020

—1013
—1006
—0320
—0313
—0306
—0250
—0243
—0236
—0229
—021(12)
—020(15)
—0180
—0173
—(0166
—0159
—014(12)
—013(15)
—012(18)
—011(21)
—010(24)
—00(11)0
—00(10)3
—0096
—0089
—007(12)
—006(15)
—005(18)
—004(21)
—003(24)
—002(27)
—001(30)
—000(33)

N=12 p*
36—1100

—1030
—1023
—1016
—1009

—005(16)
—004(19)
—003(22)
—002(25)
—001(28)
—000(31)

34—1021

—1014
—1007
—(0321
—0314
—0307
—(0251
—0244
—0237
—022(10)
—021(13)
—020(16)
—0181
—0174
—0167
—015(10)
—014(13)
—013(16)
—012(19)
—011(22)
—010(25)
—00(11)1
—00(10)4
—0097
—008(10)
—007(13)
—006(16)
—005(19)
—004(22)
—003(25)
—002(28)
—001(31)
—000(34)

37—1101

—1031
—1024
—1017
—100(10)

—005(17)
—004(20)
—003(23)
—002(26)
—001(29)
—000(32)

30—1022

—1015
—1008
—0322
—0315
—0308
—0252
—0245
—0238
—022(11D)
—021(14)
—020(17)
—0182
—0175
—0168
—015(11)
—014(14)
—013(17)
—012(20)
—011(23)
—010(25)
—00(11)2
—00(10)5
—0098
—008(11)
—007(14)
—006(17)
—005(20)
—004(23)
—003(26)
—002(29)
—001(32)
—000(35)

38—1102

—1032
—1025
—1018
—100(11)



—0400
—0330
—0323
—0316
—0309
—0260
—0253
—0246
—0239
—022(12)
—021(15)
—020(18)
—0190
—0183
—0176
—0169
—015(12)
—014(15)
—013(18)
—012(21)
—011(24)
—010(27)
—00(12)0
—00(11)3
—00(10)6
—0099
—008(12)
—007(15)
—006(18)
—005(21)
—004(24)
—003(27)
—002(30)
—001(33)
—000(36)

—0401

—(0331

—0324

—0317

—030(10)
—(0261

—0254

—0247

—023(10)
—022(13)
—021(16)
—020(19)
—0191

—(0184

—0177

—016(10)
—015(13)
—014(16)
—013(19)
—012(22)
—011(25)
—010(28)
—00(12)1
—00(11)4
—00(10)7
—009(10)
—008(13)
—007(16)
—006(19)
—005(22)
—004(25)
—003(28)
—002(31)
—001(34)
—000(37)

—0402

—0332

—0325

—0318

—030(11)
—0262

—0255

—0248

—023(11)
—022(14)
—021(17)
—020(20)
—0192

—0185

—0178

—016(11)
—015(14)
—014(17)
—013(20)
—012(23)
—011(26)
—010(29)
—00(12)2
—00(11)5
—00(10)8
—009(11)
—008(14)
—007(17)
—006(20)
—005(23)
—004(26)
—003(29)
—002(32)
—001(35)
—000(38)



